exercice 1

XAXNIT = 77

X = ?

exercice 2
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X:?

(y - 4)* = y*
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---------- REPONSE (YT) ------mm--
----- premier exercice -----

XAXATT = 77

XAXANTTNTT = T7NT7

rappel: a”m*n = a*(mn) = a”*n”m

XNTTIANXNTT = TINT7

Il
(g

rappel: a“a = b*b => a
X777 = 77

22V (B

Xl = T

(y - 4)* =y*

(y - 4)* -y* =20

((y - 4)%)2 - (y?)> =0

((y - 4)2 -y2)((y - 4)2 +y?) =0

(a suivre)



y2 - 8y + 16 - y2 =0

-8y + 16 = 0

----- (y - 4)* +y*> =0 -----
(y - 4)> +y2) =9

y2 - 8 + 16 + y2 = 0

2y? - 8y + 16 = 0

2(y?2 - 4y + 8) =0

VA = (-4)% - 4.1-8 = 16 - 32 = -16

VA = V(-16) = 4i et -4i

VA = +4i: y = (-(-4) + 4i)/2-1 = 4/2 + 4i/2 = 2 + 2i
VA = -4i: y = (-(-4) - 4i)/2-1 = 4/2 - 4i/2 = 2 - 2i
| y=2+2i |




